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1. Calculate:

4823 +569+33=.........

A. 4315 B. 5425

C. 5415 D. 5325

2. The value of 5in the number 58643 is:

A. 5 B. 500

C. 5000 D. 50000

3. Calculate:

(70850 — 50270) X 3 = .........

A. 61740 B. 62040

C. 80056 D. 162280

4. Calculate:

75683 + 1507 —93 =.............

A. 81000 B. 76087

C. 77097 D. 77107

5. Find the value of x in the following equation:

X :3=1532

A. 4596 B. 510

C. 1529 D. 3596



6. The fraction showing the highlighted parts in the following figure is:

wlo

7. Fill in the correct number:

~
|

859 |67 < 859167

A9

C.1

8. Calculate the perimeter of the f

12cm

A. 18cm
C. 36cm

9. Fill in the appropriate number:

1,3, L1 27

B.0

D.2

ollowing rectangular:

6cm

B. 72cm
D. 24 cm



10. According to this clock, how much time is left until 12:307?

A. 1 tiéng 40 phuat
B. 1 tiéng 20 phat
C. 2 tiéng 20 phat

D. 2 tiéng 40 phat

11. The number “seven million thirty six thousand two hundred and five” is written as:
A. 7036 205 B. 73625

C. 7360 205 D. 736 205

12. Fill in the correct number:
9.000.000m? = .............. km

A. 900 B. 90

C.9 D. 9.000
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14. There are 25 circles disposed in groups as follows. Which is the calculation to find
the circles in each group?

A. 25+5 B. 25-5

C. 25:5 D. 25x5

OO 000
OOO00O

OOO00O
OO0O00O
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15. The number of right angles in the following figure is:

A 2 B. 3
C. 6 D. 7
16. Calculate x in the following equation:
4 3
+ - ==
T35 72
1 6
A — B. =
10 5
7
C.- D. —
7 10

17. Fill in the appropriate numbers in order to create a set of numbers to be divided by 9:

310[1; [0J35; 2015

A. 5 1: 2 B. 2:3;4

C. 51;3 D. 4;2;2

18. Calculate:



19. Calculate:

4 5 7 8 9 _
“XTXTX X T S
3 4 8 10 14
3 33
A — B.—
4 39
10080 4
: D. -
13444 3
20. The division (1154 : 62) has the rest of:
A. 0 B. 61
C.35 D. 38

21. How many squares are there in the following figure?

A. 2 B. 10
C. 9 D.8

22.Huy pays 16 000 dong to buy 4 balls. How much does Huy has to pay to buy 7 balls?

A. 64 000 déng B. 28 000 déng
C. 112000 d(“)ng D. 32000 d(“)ng
23. Calculate:
20+20:4X5= i,
A. 45 B. 50

C. 125 D. 21



24.The pineapple weights:

A. 1kg B. 800 g

B. 1800 g D. 1300 g

25. If k=4, m = 6 and n = 24, which of the following is the correct answer?

n m

A k=— B. k=—

m n
C. k=mxn D. k=n-m

26. The area of the shaded area is:
5m
13m
A. 65m? B. 49 m?

C. 59 m? D. 16 m?



27. The fraction showing the highlighted parts in the following figure is:

4 5
A - B. =
3 8
3 10
C. - D. —
4 13

28. Which set of numbers has a sum closest to the sum of 691 + 208?

A. 600 + 200 B. 700 + 200

C. 700 + 300 D. 900 + 200

29. Ifa+2b =5vac = 3, calculate:
a+2b+c)=.............

A. 14 B.8

B. C.12 D.11

30.Nhung sold 60 newspapers and Huong sold 80 newspapers, at the same price. The

total amount of money they get from selling newspapers is 700 000 dong. How much
money did Huong get from selling the newspapers?

A. 300 000 déng C. 525 000 déng

B. 420 000 dbéng D. 400 000 ddng



